Study Guide Final Exam Part 3
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Sherri sees a hot air balloon at an angle of inclination of 72°. Sherri’s twin sister is standing directly beneath the hot air balloon, 500 yards away from Sherri, as shown in the diagram. 

Sherri’s eye level is 2 yards above the ground. What is the height of the hot air balloon above the ground? Round your answer to the nearest yard.

A. 1072 yds
B. 1800 yds
C. 1541 yds
D. 2800 yds
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8. Which expression is equal to cos 40°?

A. sin 40°
B. sin 50°
C. cos 50°
D. cos 80°
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Intriangle XYZ, m/Y = 90° and cos X = Fre Which trigonometric ratio is

correct?
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cosZ = 32
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Right triangle K EY is shown.
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Which ratio represents the value of sin¥'?
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Let A and B be complementary angles, and let 7 —
¥ YEne cosB

sin(10 + A) sinA
Y= ——— " andz = — " Whatis the value of the product
cos(B — 10) cos(B — 20)

Ty2?




image18.jpg




image19.jpg




image20.jpg
8|




image21.jpg




image22.jpg
If Aand B are complementary angles, and cos A = , what is sin B?
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Aright triangle is shown.
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For two complementary angles, Aand B, the relation below holds.
sind +cosB =1

What is cos A?
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In-ight triangle ABC, m/C = 00°, and sin A = . What's the value of

cos B?
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Right triangle RAY is shown below.
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Which of the following equations correctly represents a property of ARAY?
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